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BAITyv47/ RC-40 {1 EVJE 150mm ;

g (I - BIF ) 1,930
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;
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W g (aEEn) 55
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HEE L = 1 1,175, 768
B = T Ev 1 18,037 | B/l CRAIT - a4 1A i 17 m
HEYHE L T = 1 737,549 | EhZERR DI 1 X
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/) )= M2 15emPA R
EhAE AR AR 55 m2
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TAT7IV NS
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20—k (SRR
RE% T = 214, 889
Mm%+ T =Y 85, 889 | MEmERK + 1 =
H=200 ;
B EHT = 129, 000 | A3 EFHEEAHE 1 F2V
[ERE ALy = 25, 015, 496
HiE = 3, 250, 800
ESEIGE 2 379, 800
HeffrE sy = 58,800 |iHEEHEER AT —HERE H 1 =
BGRESCGES (5 1) = 321, 000
B (FEHL) = 2,871, 000
T = 28, 266, 296




(e W VR P ) T 5 ] ~ o iy U R D T v A

R PERE
TH4 | hE - EHERSN SRR T F
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e R E20 1 9, 421, 000
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b 200 m3
0 Cadl- EHIRY £5T) ;
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4. 0mPL E
b 4, 960 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 5, 000 m3
+Hw 550, 000m3 AT ;
5527 ) =} =X 1 2,280,000 |3E 1D av7)-} 500 m2
18-8-40 (F4F)  av))- MR EHH 4
IR = 1 624, 200
fiA T 2 1 624,200 | NTiEZ 1, 000 m2
ME50cm~100cm 4y M+t ;
HEKHEEY T = 1 954, 199
EELT = 1 713,259 |KIED 1 X
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HEL 1 2V
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b T 1 X
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EEEET = 1 849, 371
EhLL R T = 1 30,625 | NREFEIE 250 m2
MEMEEL ;
TA7 7w Ml T 2 1 661,500 | T/BRA (i - KFER) 250 m2
BTy 477 RC-40 A VW E 100mm ;
g (I - BIF ) 250 m2
PRI BT A2y (20) 4#2EE 50mm 3. Omtd ;
T E 2 T = 1 157,246 | EHEERR Y)W 1 =X
TAT7MEZERR 15emELl T
EhAE AR AR 50 m2
TAT7VMERZE IR Bf2ERRIE 5 cm ;
DO 3 m3
TAT 7V
By 3 m3
(HE38)
TAT 7V
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EMIEL ;
g (I - BIF ) 50 m2
PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
X [E L 2 1 32,930
X IR T 2 1 32,930 | ¥A =S R 100 m
RETFE) FE 15em JE 1. Smm HEKPE A LG 4
HEAT B MR T = 1 447, 080
BRT 2 1 447,080 | B FHT 40 VN
120X120 X900 A& & FLpEE L ;
15 5 g 40 #
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SN AL T =Y 1 574, 764
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HEYE T Y 1 235, 941
s EEE L T Y 1 214, 337 | &lEERREI T 1 =
TAT 7V MEHEERR 15emPA T
A IR A 100 m2
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/)Y - NEUE U SR e 10 m3
IAAEIEY |
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TAT7IV NS
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(HiE)
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A Y 1 193, 559
Mm%+ T =Y 1 64, 559 | MERERK + 1 =
H=200 ;
AEEHE T Y 1 129,000 |AZ1FHEZAE S 1 =
[ERAE Xy = 1 11, 215, 255
@R = 1 1, 560, 000
BISTI S = 1 170, 000
BGRESCESE (5 L) = 1 170, 000
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sty (R L) 2V 1 1, 390, 000
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e R E20 1 4, 434, 000
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